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Question Id : 92090628644 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

As he hailed India’s bilateral ties with Australia as having entered the T20 mode,
PM Modi in a meeting with his counterpart, Anthony Albanese, on Wednesday again
raised the issue of attacks on Hindu temples and activities of Khalistan separatists in
Australia. Any attempt to harm India — Australia ties was unacceptable, Modi said.
Albanese assured him of strong action against the perpetrators.

Modi rounded off his three-nation tour with a bilateral meeting with Albanese,
and a business round table that saw the two sides signing a migration agreement for
two-way mobhility of students and business professionals, and another deal to set up a
task force for green hydrogen cooperation. The leaders also discussed many regional
and global issues, including the threat posed by China’s assertiveness in the Indo-

Pacifie, Russia-Ukraine war, Quad cooperation and ways to address problems faced by
the Global South.

Thanking Albanese for the steps taken to prevent attacks on Hindu temples,
Modi said the former assured him once again that he would continue to take strict
action against the perpetrators.

Sub questions

Question Number : 1 Question Id : 92090628645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out one word for the following phrase from the following options.

‘Commit a harmful, illegal or immoral action’

(1) Perpetual (2) Persiflage
(3) Perpetrate (1) Pernicious
Options :

920906113201. 1
920906113202. 2
920906113203. 3
920906113204. 4

Question Number : 2 Question Id : 92090628646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : Albanese assured him of no strong action against the
perpetrators.

Statement II : PM Modi in a meeting with his counterpart Anthony Albanese
on Wednesday again raised the issue of attacks on Hindu
temples and activities of Khalistan separatist in Australia.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true

Options :

920906113205. 1
920906113206. 2
920906113207. 3
920906113208. 4

Question Number : 3 Question Id : 92090628647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate words from the options given below:

Modi rounded his three nation tour a bilateral meeting with Albanese,
and a business round table that saw the two sides signing a migration agreement
two way mobility of students and business professionals.

(1)  off, with, for (2) off, for, from
(3)  off, with, in (4) off, on, in
Options :

920906113209. 1
920906113210. 2
920906113211. 3
920906113212. 4

Question Number : 4 Question Id : 92090628648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Antonym of the term ‘assertive’ is:

(1) Asgsist (2) Assess
(3) Retiring (1) Associate
Options :

920906113213. 1
920906113214. 2
920906113215. 3
920906113216. 4

Question Number : 5 Question Id : 92090628649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What issue was raised by PM Modi with his counterpart, Anthony Albanese
according to this paragraph?

(1) Global Warming
(2) Attacks on Hindu temples in Australia
(3 Indio — Pak war

(4) Natural Disaster

Options :

920906113217. 1
920906113218. 2
920906113219. 3
920906113220. 4

Question Id : 92090628644 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



As he hailed India’s bilateral ties with Australia as having entered the T20 mode,
PM Modi in a meeting with his counterpart, Anthony Albanese, on Wednesday again
raised the issue of attacks on Hindu temples and activities of Khalistan separatists in
Australia. Any attempt to harm India — Australia ties was unacceptable, Modi said.
Albanese assured him of strong action against the perpetrators.

Modi rounded off his three-nation tour with a bilateral meeting with Albanese,
and a business round table that saw the two sides signing a migration agreement for
two-way mobhility of students and business professionals, and another deal to set up a
task force for green hydrogen cooperation. The leaders also discussed many regional
and global issues, including the threat posed by China’s assertiveness in the Indo-
Pacifie, Russia-Ukraine war, Quad cooperation and ways to address problems faced by
the Global South.

Thanking Albanese for the steps taken to prevent attacks on Hindu temples,
Modi said the former assured him once again that he would continue to take strict

action against the perpetrators.

Sub questions

Question Number : 1 Question Id : 92090628645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out one word for the following phrase from the following options.

‘Commit a harmful, illegal or immoral action’

(1)  Perpetual (2) Persiflage
(3) Perpetrate (1) Pernicious
Options :

920906113201. 1
920906113202. 2
920906113203. 3
920906113204. 4

Question Number : 2 Question Id : 92090628646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement I  : Albanese assured him of no strong action against the
perpetrators.

Statement II : PM Modi in a meeting with his counterpart Anthony Albanese
on Wednesday again raised the issue of attacks on Hindu
temples and activities of Khalistan separatist in Australia.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true

Options :

920906113205. 1
920906113206. 2
920906113207. 3
920906113208. 4

Question Number : 3 Question Id : 92090628647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate words from the options given below:

Modi rounded his three nation tour a bilateral meeting with Albanese,
and a business round table that saw the two sides signing a migration agreement
two way mobility of students and business professionals.

(1)  off, with, for (2) off, for, from
(3) off, with, in (4) off, on, in
Options :

920906113209. 1
920906113210. 2
920906113211. 3
920906113212. 4

Question Number : 4 Question Id : 92090628648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Antonym of the term ‘assertive’ is:

(1) Assist {2) Assess
(3) Retiring (1) Associate
Options :

920906113213. 1
920906113214. 2
920906113215. 3
920906113216. 4

Question Number : 5 Question Id : 92090628649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What issue was raised by PM Modi with his counterpart, Anthony Albanese
according to this paragraph?

(1) Global Warming

(2)  Attacks on Hindu temples in Australia

(3) Indio — Pak war

(4) Natural Disaster

Options :

920906113217. 1
920906113218. 2
920906113219. 3
920906113220. 4

Sub-Section Number : 2
Sub-Section Id : 920906917
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090628650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blanks with appropriate adjective clause
“The exam I didn’t study for, was absolutely tough”.

(1)  who (2) that
(3) while (1) since



Options :

920906113221. 1
920906113222. 2
920906113223.3
920906113224. 4

Question Number : 6 Question Id : 92090628650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate adjective clause

“The exam I didn’t study for, was absolutely tough”.
(1) who (2) that
(3) while (1) since
Options :

920906113221. 1
920906113222. 2
920906113223. 3
920906113224. 4

Question Number : 7 Question Id : 92090628651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose one word for the following part.

“An elaborate and spectacular entertainment”.

(1) Extravagant (2) Extracorporeal
(3 Exotoxin (4) Extravaganza
Options :

920906113225. 1
920906113226. 2
920906113227. 3
920906113228. 4

Question Number : 7 Question Id : 92090628651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose one word for the following part.

“An elaborate and spectacular entertainment”.

(1) Extravagant (2) Extracorporeal
(3) Exotoxin (4) Extravaganza
Options :

920906113225. 1
920906113226. 2
920906113227. 3
920906113228. 4

Question Number : 8 Question Id : 92090628652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions.

Electronics also take circuitous routes the Russian market. One report
estimated that such “parallel imports” laptops, tablets and smartphones totaled
$1.5 billion last year. At the same time, chinese cars and electronics have flooded
__the Russian market.

(1) from, of, in (2) to, in, of
(3) to, of, into (4) from, of, in
Options :

920906113229. 1
920906113230. 2
920906113231. 3
920906113232. 4

Question Number : 8 Question Id : 92090628652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions.

Electronics also take circuitous routes the Russian market. One report
estimated that such “parallel imports” laptops, tablets and smartphones totaled
$1.5 billion last year. At the same time, chinese cars and electronics have flooded
__the Russian market.

(1) from, of, in (2) to, in, of
(3) to, of, into (4) from, of, in
Options :

920906113229. 1
920906113230. 2
920906113231. 3
920906113232. 4

Question Number : 9 Question Id : 92090628653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
nvaten Last 1 with Last 1l :

List I (Word) List I1 (Synonym)
(A) Deadly (I) Death
(B) Decipher (II) Calumny
(C) Defamation (II1) Interpret
(D) Demise (IV) Lethal

Choose the correct answer from the options given below:

(1) (A)-D), (B)-(1), (C)-(I1D), (D)-(IV)
(2)  (A)-ID), (B)-D), (C)-(IV), (D)-(1IIL)
3)  (A)-(ID, (B)-(IV), (C)-(I), (D)D)
(1) (A)-IV), (B)-(1D), (C)-(1D), (D)-(D)

Options :

920906113233. 1
920906113234. 2
920906113235. 3
920906113236. 4

Question Number : 9 Question Id : 92090628653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Matcn 1ast 1 with 148t 11 °©

List I (Word) List I (Synonym)
(A) Deadly (I) Death
(B) Decipher (II) Calumny
(C) Defamation (II1) Interpret
(D) Demise (IV) Lethal

Choose the correct answer from the options given below:

(1) (A)-D), (B)-(11), (C)-(I1I), (D)-(IV)
(2)  (A)ID), (B)-M), (C)-(IV), (D)-(1L)
(3)  (A)-(ID), (B)-(IV), (C)-(I), (D)-(IT)
(4)  (A)-(IV), (B)-(1D), (C)-(1D), (D)-(D)

Options :

920906113233. 1
920906113234. 2
920906113235. 3
920906113236. 4

Question Number : 10 Question Id : 92090628654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II :

List I (Word) List IT (Antonym)
(A) Triumph ()  Humble

(B) Timid (II) Failure

(C) Deficit (I1I) Bold

(D) Arrogant (IV) Surplus

Choose the correct answer from the options given below:

(1) (A)-D), (B)-), (C)-(IV), (D)-(I1I)
(2)  (A)-(IV), (B)-1D), (C)-(I), (D)-(III)
(3)  (A)-(ID), (B)-(1I), (C)-(IV), (D)-(I)
(1) (A)-D), (B)-(ID), (C)-(III), (D)-(1IV)

Options :

920906113237. 1
920906113238. 2
920906113239. 3
920906113240. 4



Question Number : 10 Question Id : 92090628654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List I1:

List I (Word) List Il (Antonym)
(A) Triumph () " Humble

(B) Timid (I) Failure

(C) Deficit (I1T) Bold

(D) Arrogant (IV) Surplus

Choose the correct answer from the options given below:

(1)  (A)-(ID), (B)-(D), (C)-(IV), (D)-(IIL)
(2)  (A)-(IV), (B)-(ID), (C)-(I), (D)-(1IT)
(3)  (A)-(ID), (B)-(IID), (C)-(IV), (D)-(I)
(4)  (A)-(D), (B)-(IL), (C)-(I1I), (D)-(IV)

Options :

920906113237. 1
920906113238. 2
920906113239. 3
920906113240. 4

Question Number : 11 Question Id : 92090628655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If X—_dl =5, then the value of ‘I+l2 18
X X
() 19 (2) 17
(3) 14.5 (1) 15
Options :

920906113241. 1
920906113242. 2
920906113243. 3
920906113244. 4



Question Number : 11 Question Id : 92090628655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If X—_dl =5, then the value of ‘I+i2 is:
X X
(Iy 19 (2) 17
(3) 14.5 (49 15
Options :

920906113241. 1
920906113242. 2
920906113243. 3
920906113244. 4

Question Number : 12 Question Id : 92090628656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If AD = CD = BD, then the area of the shaded region OACBO 1s:

[ Given, 'JT=£]
\ I

«—— 3 —>

161 81
] 4 il W5 2 2 2
(1) 28 m (2) 12 m
(3) —E? m* {(4) 6.5 m*

Options :



920906113245. 1
920906113246. 2
920906113247. 3
920906113248. 4

Question Number : 12 Question Id : 92090628656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If AD = CD = BD, then the area of the shaded region OACBO is:
( Given, = E]
\ Fi

—3Im —>
I_.I'\

A= 0

Pk _._- = B\f
161 81
il . | ] e
(1) 5g (2) T
(3) "E m? (4) 6.5 m?

Options :

920906113245. 1
920906113246. 2
920906113247.3
920906113248. 4

Question Number : 13 Question Id : 92090628657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Two pipes can fill a tank separately in 20 minutes and 60 minutes respectively.
What portion of the tank can be filled by both pipes in 12 minutes?

(1)  60% (2) 75%
(3)  80% (4) 85%

Options :

920906113249.
920906113250.
920906113251.
920906113252.

AW N~

Question Number : 13 Question Id : 92090628657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two pipes can fill a tank separately in 20 minutes and 60 minutes respectively.
What portion of the tank can be filled by both pipes in 12 minutes?

(1)  60% (2) 75%
(3) 80% (4) 85%

Options :

920906113249.
920906113250.
920906113251.
920906113252,

AW N =

Question Number : 14 Question Id : 92090628658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two trains A and B travelling on the same track at 108 km/h and 72 km/h will cross
a pole in 60s and 120s respectively. The ratio of their length 1s:

(1) S (2) 2:3
(3) 3:2 (4 3:4
Options :

920906113253. 1
920906113254. 2
920906113255.3
920906113256. 4



Question Number : 14 Question Id : 92090628658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two trains A and B travelling on the same track at 108 km/h and 72 km/h will cross
a pole in 60s and 120s respectively. The ratio of their length 1s:

(1) 1:8 2) 2:3
(3) 3:2 (4 3:4
Options :

920906113253. 1
920906113254. 2
920906113255.3
920906113256. 4

Question Number : 15 Question Id : 92090628659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A pizza can be equally distributed among 8 kids and they can eat their individual
shares in 45 min. How many pizzas can be eaten by 12 kids in 2 hr. 30 minutes:

(1) 8 (2) T
(3) 6 (4) 5
Options :

920906113257. 1
920906113258. 2
920906113259. 3
920906113260. 4

Question Number : 15 Question Id : 92090628659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A pizza can be equally distributed among 8 kids and they can eat their individual
shares in 45 min. How many pizzas can be eaten by 12 kids in 2 hr. 30 minutes:

(1) 8 2) 7
3) 6 1) 5

Options :



920906113257. 1
920906113258. 2
920906113259. 3
920906113260. 4

Question Number : 16 Question Id : 92090628660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the odd one among the following:

A4+ 25 /36 + 64
100 25
(3) —— (4)
\J49 +169 9+49
Options :

920906113261. 1
920906113262. 2
920906113263. 3
920906113264. 4

Question Number : 16 Question Id : 92090628660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the odd one among the following:

1y 2 &
4425 736 + 64
100 25
(3) ——_— (4)
49+ 169 49+ 49
Options :

920906113261. 1
920906113262. 2
920906113263. 3
920906113264. 4

Question Number : 17 Question Id : 92090628661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



There is a certain relationship between two groups of letters. One set of letters is
given on left hand side of the symbol : : . Choose the correct alternative which will
establish the similar relation with the group of letters given on other side of the
symbol : : -

SUWY : LPTX : : PRTV :

(1) IMQU (2) INRU
(3) INQU (4) IMRU
Options :

920906113265. 1
920906113266. 2
920906113267. 3
920906113268. 4

Question Number : 17 Question Id : 92090628661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There is a certain relationship between two groups of letters. One set of letters is
given on left hand side of the symbol : : . Choose the correct alternative which will
establish the similar relation with the group of letters given on other side of the
symbol : : -

SUWY : LPTX : : PRTV :

(1) IMQU (2) INRU
(3) INQU (4) IMRU
Options :

920906113265. 1
920906113266. 2
920906113267 3
920906113268. 4

Question Number : 18 Question Id : 92090628662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the next number in the given series :
17,19, 23,29, 31, 37,
(1) 40 (2) 42
(3 41 (1) 43



Options :

920906113269. 1
920906113270. 2
920906113271. 3
920906113272. 4

Question Number : 18 Question Id : 92090628662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the next number in the given series :

17, 19, 23, 29, 31, 37,

(1) 40 (2) 42
(3) 41 (4) 43
Options :

920906113269. 1
920906113270. 2
920906113271. 3
920906113272. 4

Question Number : 19 Question Id : 92090628663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain code language, if the word “PARTNER” is coded as OZQSMDQ, then
what is the code for the word “SEGMENT” in that language?

(1) TFHNFOU (2) RDFLDMS
(3) RDELDMS (4) RDFEDNS
Options :

920906113273. 1
920906113274. 2
920906113275. 3
920906113276. 4

Question Number : 19 Question Id : 92090628663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a certain code language, if the word “PARTNER” is coded as OZQSMDQ, then
what is the code for the word “SEGMENT” in that language?

(1) TFHNFOU (2) RDFLDMS
(3) RDELDMS (4) RDFEDNS
Options :

920906113273. 1
920906113274. 2
920906113275. 3
920906113276. 4

Question Number : 20 Question Id : 92090628664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the time between 4 and 5 O’ clock at which the minute hand and the hour hand
are perpendicular to each other.

(1) 27 % minutes past 4 (2) 36 % minutes past 4
2 - "
(3) a8 1 minutes past 4 (4) 27 1 minutes past 5
Options :

920906113277. 1
920906113278. 2
920906113279. 3
920906113280. 4

Question Number : 20 Question Id : 92090628664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the time between 4 and 5 O’ clock at which the minute hand and the hour hand
are perpendicular to each other.

(1) 27 % minutes past 4 (2) 36 % minutes past 4
2 -
(3) 38 ﬁ minutes past 4 {4) 2T ﬁ minutes past 5

Options :
920906113277. 1



920906113278. 2
920906113279. 3
920906113280. 4

Question Number : 21 Question Id : 92090628665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The headquarter of the Board of Control for Cricket in India (BCCI) i1s located in

(1) Mumbai (2) Bengaluru
(3) Kolkata (4) Delhi
Options :

920906113281. 1
920906113282. 2
920906113283. 3
920906113284. 4

Question Number : 21 Question Id : 92090628665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The headquarter of the Board of Control for Cricket in India (BCCI) is located in

(1) Mumbai (2) Bengaluru
(3) Kolkata (4) Delh:
Options :

920906113281. 1
920906113282. 2
920906113283. 3
920906113284. 4

Question Number : 22 Question Id : 92090628666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11 :

List I List II
(Major News Paper of the World) (Country)
(A) The Age () India
(B) The Gazette (I1) Australia
(C) The Press (II1) New Zealand
(D) The Tribune (IV) Canada

Choose the correct answer from the options given below:

() (A)-D, (B)-(IV), (C)-(111), (D)-(T)
(2)  (A)-IV), (B)-dD, (O)-(1D, (D)-()
(3)  (A)-(D), (B)-AV), (C)-(I1I), (D)-(1)
(4)  (A)-(D, (B)-AV), (C)-(I), (D)-(ILI)

Options :

920906113285. 1
920906113286. 2
920906113287. 3
920906113288. 4

Question Number : 22 Question Id : 92090628666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I :

List I List I1
(Major News Paper of the World) (Country)
(A) The Age (1) India
(B) The Gazette (IT) Australia
(C) The Press (IIT) New Zealand
(D) The Tribune (IV) Canada

Choose the correct answer from the options given below:

(1) (A)-D), (B)-(IV), (C)-(II), (D)-(II)
(2)  (A)-AV), (B)-aD), (C)-(I1I), (D)-(1)
(3)  (A)-ID), (B)-(IV), (O)-11D), (D)-(D)
(4 (A)-ID), (B)-(IV), (O)-(D), (D)-(1I)

Options :



920906113285. 1
920906113286. 2
920906113287. 3
920906113288. 4

Question Number : 23 Question Id : 92090628667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements -

Statement I  : ‘Vienna’ is the capital of ‘Australia’

Statement [ : ‘Euro’ is the currency of ‘Australia’

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement Il are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement I is correct but Statement I1 is incorrect

(4) Statement [ is incorrect but Statement 11 is correct

Options :

920906113289. 1
920906113290. 2
920906113291. 3
920906113292. 4

Question Number : 23 Question Id : 92090628667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : ‘Vienna’ is the capital of ‘Australia’

Statement II : ‘Euro’ is the currency of ‘Australia’

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement I 15 correct but Statement II 1s incorrect

(4) Statement [ is incorrect but Statement 11 is correct

Options :

920906113289. 1
920906113290. 2
920906113291. 3
920906113292. 4

Question Number : 24 Question Id : 92090628668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An electric fan and a heater are marked 100 W, 220V and 1000W, 220V respectively.
The resistance of the heater 1s

(1) Zero (2) Greater than that of the fan
(3)  Lesser than that of the fan (4) Equal to that of the fan
Options :

920906113293. 1
920906113294. 2
920906113295. 3
920906113296. 4

Question Number : 24 Question Id : 92090628668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An electric fan and a heater are marked 100 W, 220V and 1000W, 220V respectively.
The resistance of the heater is

(1) Zero (2) Greater than that of the fan
(3)  Lesser than that of the fan (4) Equal to that of the fan
Options :

920906113293. 1
920906113294. 2
920906113295. 3
920906113296. 4

Question Number : 25 Question Id : 92090628669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List 11 -

List 1 Last 11
(Author) (Book)
(A) Amartya Sen (I) 1IDare, As1 See
(B) Kiran Bedi (I) Death of a City
(C) Malala Yousafzai (II1) Development as Freedom
(D) Amrita Pritam (IV) We are displaced

Choose the correct answer from the options given below:

(1) Q)-(0). (B)-(I), (C)-(1I), (D)-(IV)
(2)  (A)-ID, (B)-(D), (C)-(IV), (D)-(1I)
(3) (A, (B)-(I), (O)-(ID), (D)-(IV)
(4)  (A)-(D), (B)-(I1I), (C)-(IV), (D)-(IT)

Options :

920906113297. 1
920906113298. 2
920906113299. 3
920906113300. 4

Question Number : 25 Question Id : 92090628669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11 :

List I List 11
(Author) (Book)
(A) Amartya Sen (I) 1IDare, As I See
(B) Kiran Bedi (I) Death of a City
(C) Malala Yousafzai (III) Development as Freedom
(D) Amrita Pritam (IV) We are displaced

Choose the correct answer from the options given below:

1) A)-), (B)-(11), (O)-(D), (D)-(IV)
(2)  (A)-aID, (B)-(D), (C)-(IV), (D)-1D)
(3)  (A)-(1D), (B)-(D), (C)-(II), (D)-(IV)
(1) (A)-(D, (B)-(I1L), (C)-AV), (D)-(II)

Options :

920906113297. 1
920906113298. 2
920906113299. 3
920906113300. 4

Part B: Hindi

Section Id : 920906568
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906918
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090628670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



firm g fAfée <o = Twem & A@iq efafas 9 @ 59 5t sfbEE § ot
TR &7

-

(1) el (2) AR 9T
(3) foamfs (4) e
Options :

920906113301. 1
920906113302. 2
920906113303. 3
920906113304. 4

Question Number : 26 Question Id : 92090628670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i g fE =mw w1 w9 fefafes 9 @ =9 @ b 9 wits
Bl 87

(1) el (2) FHR 91
(3) foamfg (1) e
Options :

920906113301. 1
920906113302. 2
920906113303. 3
920906113304. 4

Question Number : 27 Question Id : 92090628671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
afeshret 1 Tag wma Fer 1 59 e fagm 3 & &7

(1) =eER e fzae (2) wBeigERE fgad
(3) fazEy (4) TESA TFEEA
Options :

920906113305. 1
920906113306. 2
920906113307. 3



920906113308. 4

Question Number : 27 Question Id : 92090628671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffeshrel =i g ama e i @3 fre gm 3 & 87

(1) wEER e fZad (2) wedivETg fgad
(3) TozEy (4) TEA HHAEA
Options :

920906113305. 1
920906113306. 2
920906113307. 3
920906113308. 4

Question Number : 28 Question Id : 92090628672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= g f5adt Ha fedl dfecs: 35 3R fawa 79 fhm a4 gehiioE g3 a7

(1) 1928 (2) 1929
(3) 1952 (4) 1986
Options :

920906113309. 1
920906113310. 2
920906113311. 3
920906113312. 4

Question Number : 28 Question Id : 92090628672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=T garvETe fgadt a fedl wifees: 3@ i fawme vy form ad wemifoa gam o7
(1) 1928 (2) 1929

(3) 1952 (4) 1986

Options :



920906113309. 1
920906113310. 2
920906113311. 3
920906113312. 4

Question Number : 29 Question Id : 92090628673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"SI Wi <1 W1 AIecd d8l @1 a1 =l (aagid &l diad Safems g@l 81" T8 9w 6
e i 87

(1) o= I (2) BARITERE BEd
(3) s (4) THfgemE Wi
Options :

920906113313. 1
920906113314. 2
920906113315. 3
920906113316. 4

Question Number : 29 Question Id : 92090628673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"SI Wi <1 W1 AIecd d8l @1 a1 =l (aagid &l diad Safems g@l 81" T8 9w 6
e i 87

(1) o= I (2) BARITERE BEd
(3) s (4) THfgemE Wi
Options :

920906113313. 1
920906113314. 2
920906113315. 3
920906113316. 4

Question Number : 30 Question Id : 92090628674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&1, o= 48 &% an e i Tl & ge9 WA 9 e fag 1 T gt feu Ee

1) TS (2) T IEAE
(@) TR I (4) T e f&e
Options :

920906113317. 1
920906113318. 2
920906113319. 3
920906113320. 4

Question Number : 30 Question Id : 92090628674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. o= 48 F an F=r i e F g8 7 T e fag 1 T g e Ee

1) T A (2) T I
(3) TR e (4) T Tt fE
Options :

920906113317. 1
920906113318. 2
920906113319. 3
920906113320. 4

Question Number : 31 Question Id : 92090628675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

721 # 991 2 921 Wal, I W HEq 7 30 @@ 2l 7E i fhw wf A2

o

(1) =dEl (2) HaE
(3) qeieE (4) eerE
Options :

920906113321. 1
920906113322. 2
920906113323.3
920906113324. 4



Question Number : 31 Question Id : 92090628675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

931 & 93! & 931 Wel, W Gd HEd o 3id el 21 A€ Uit Thy Bl B 27

(1) =l (2) HqE
(3) gediEE (4) eEE
Options :

920906113321. 1
920906113322. 2
920906113323. 3
920906113324. 4

Question Number : 32 Question Id : 92090628676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Torm g = amadl YTl  Fia WA FI & & qe" w951 g qET 87

(1) TR I (2) werR wawE e
(3) THFHAR FHi (4) TEA HHETA
Options :

920906113325. 1
920906113326. 2
920906113327.3
920906113328. 4

Question Number : 32 Question Id : 92090628676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
form fagm = el yared % #fa way %1 &8 &1 vad a2 g gm 27

(D) g I (2) wEm s fed
(3) THFAR FHl (4) TES FHATTA

Options :



920906113325. 1
920906113326. 2
920906113327. 3
920906113328. 4

Question Number : 33 Question Id : 92090628677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frfofaa o 6 e =R 5 319 Ffa & o FAfE-=m=1 6t FEH &1 393 T8 fwma?

(1) i gEe (2) TETE
(3)  <rerd st (1) R gEd
Options :

920906113329. 1
920906113330. 2
920906113331. 3
920906113332. 4

Question Number : 33 Question Id : 92090628677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frfefaa § 9 form @R 4 A9 Ffa F fou difew-=wn 6t Fart & 35 38 fware

(1) i gEe (2) TETE
(3) < (1) 3w gwa
Options :

920906113329. 1
920906113330. 2
920906113331. 3
920906113332. 4

Question Number : 34 Question Id : 92090628678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frfeifigd 4 & & i A1 HeEeE & T8 87

(1) faofsEn (2) THEfzH
(3) =fafEm (1) o=t
Options :

920906113333. 1
920906113334. 2
920906113335. 3
920906113336. 4

Question Number : 34 Question Id : 92090628678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frfeifigd 4 & & i A1 HeEeE & T8 87

(1) faofsEn (2) THEfzH
(3) =fafEm (1) o=t
Options :

920906113333. 1
920906113334. 2
920906113335. 3
920906113336. 4

Question Number : 35 Question Id : 92090628679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s fedt w1 o’ frm e Fr = 87

(1)  3ATer=A (2) ITAH
(3) fEw (4) w=a
Options :

920906113337. 1
920906113338. 2
920906113339. 3
920906113340. 4



Question Number : 35 Question Id : 92090628679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%3 &8t =1 o fom fom i =1 B9

(1) A= (2) IT=E
(3) f=w (4) w=
Options :

920906113337. 1
920906113338. 2
920906113339. 3
920906113340. 4

Question Number : 36 Question Id : 92090628680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT AT B THEH T T 87

(1) 1954 (2) 1955
(3) 1956 (4) 1957
Options :

920906113341. 1
920906113342. 2
920906113343. 3
920906113344. 4

Question Number : 36 Question Id : 92090628680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T AT HI THEH 9 T 87

(1) 1954 (2) 1955
(3) 1956 (4) 1957
Options :

920906113341. 1



920906113342. 2
920906113343. 3
920906113344. 4

Question Number : 37 Question Id : 92090628681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TIT Hifged: U 994’ A= U9 & =N R 87

(1) =g & (2) egeTr AT
(3) vAEHE T (4) THfgE™ i
Options :

920906113345. 1
920906113346. 2
920906113347.3
920906113348. 4

Question Number : 37 Question Id : 92090628681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TT Hifged: U 994’ AT =1 99 & =R R 87

(1) =g & (2) EgER AT
(3) vAmEE T (4) THfgE™ Wi
Options :

920906113345. 1
920906113346. 2
920906113347. 3
920906113348. 4

Question Number : 38 Question Id : 92090628682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frefafea 1 8 tw=g I 1 e Oy T 27
(1) w9 &= (2) e § EEaE
(3) dHediE (4) ™ HEE



Options :

920906113349. 1
920906113350. 2
920906113351. 3
920906113352. 4

Question Number : 38 Question Id : 92090628682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f=fefaa § ¥ TH=Eg Y &1 SAEE O T8 87

(1) o9 &= (2) +=F § EEaR
(3) wgaEid (4) T drmmE
Options :

920906113349. 1
920906113350. 2
920906113351. 3
920906113352. 4

Question Number : 39 Question Id : 92090628683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TrefafEs § & e Bt e =1 3= 796 27

(1) =i & s (2) <hIeT HEAW
(3) == (4) e
Options :

920906113353. 1
920906113354. 2
920906113355. 3
920906113356. 4

Question Number : 39 Question Id : 92090628683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafefas & & g et foer =1 3= 78 27

(1) <= it Ths (2) Tt FAH
(3) e (4) TAEam
Options :

920906113353. 1
920906113354. 2
920906113355. 3
920906113356. 4

Question Number : 40 Question Id : 92090628684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F1 5] F91 I1g e (ehueh] a1 87

(1) =fEe 7 = (2) T T
(3) foarfi =l (4) TH= TEwe©
Options :

920906113357. 1
920906113358. 2
920906113359. 3
920906113360. 4

Question Number : 40 Question Id : 92090628684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T W5, 1 A1 e ehEeh] T 27

(1) EfEs 7 == (2) T T
(3) Tt =l (4) TE TEE
Options :

920906113357. 1
920906113358. 2
920906113359. 3
920906113360. 4

Question Number : 41 Question Id : 92090628685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

el A G % AR WA e w1 qHiE e TheE § JEiem g o

(1) efwes e (2) wE=Edl
(3)  FATE e (4) f&di wém
Options :

920906113361. 1
920906113362. 2
920906113363. 3
920906113364. 4

Question Number : 41 Question Id : 92090628685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oA AT G % Aes WA W w1 quie fFe gk § yerivm g o7

(1) gfe=s am=E (2) TwEH
(8) 3w et (4) f&dt wém
Options :

920906113361. 1
920906113362. 2
920906113363. 3
920906113364. 4

Question Number : 42 Question Id : 92090628686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘i Fw wiaw Az dan e 4, foad ffeafs & smem fafsa ssemg 6 sead g
ol TET ik Tecl HIEd & S8 & hiel-[a9r 37 =1 ! fig o & fAsan &

Ush =l aidl @Sl a1 T 911”7 98 %94 fhE HifEcaiaeEsn &1 87
(1) fomey (2) THEE IEA

(3) wewER feed (4) == fa
Options :

920906113365. 1
920906113366. 2
920906113367. 3



920906113368. 4

Question Number : 42 Question Id : 92090628686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“H3 o wiem e Jan feu 9, e ofifeafs & aqem fafas saeme 6 aeed g g
T+ W& Hh T8dl HifEd & e & He-=9m 317 =1 &1 fig o & s =

U F=1 ei=1 @l fohan man o) 98 wuq feg aifecifremsn w1 27
(1) fozey (2) THEg I

(3) EERE fZEd (4) &=+ fom
Options :

920906113365. 1
920906113366. 2
920906113367. 3
920906113368. 4

Question Number : 43 Question Id : 92090628687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘T Aifefcas i S F =ATEL FH 87

(1) 7oA "HE gRear (2) THIE S
(3) oo warE (4) FIA
Options :

920906113369. 1
920906113370. 2
920906113371. 3
920906113372. 4

Question Number : 43 Question Id : 92090628687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘T Aifafcass i Sl F =AEE $9 E7

(1) 7o =oE e (2) THgE S
(3) oo warER (4) TIIA
Options :

920906113369. 1
920906113370. 2
920906113371. 3
920906113372. 4

Question Number : 44 Question Id : 92090628688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frefafea 0 & e faun i @ #F = T8 27

(1)  3ATam FEE (2) TaEmEers
(3)  Forw = EaE (4) =TT IEH
Options :

920906113373. 1
920906113374. 2
920906113375. 3
920906113376. 4

Question Number : 44 Question Id : 92090628688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frfefaa 4 & et faw & w5 30 = 72 27

(1) = qEE (2) TemmeF
(3)  Fow w1 o (4) ST IEY
Options :

920906113373. 1
920906113374. 2
920906113375. 3
920906113376. 4



Question Number : 45 Question Id : 92090628689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=7, TR =qael 4 fRE =€ Tl EE w1 vuw gEeee mE g e

(1) ®|mha (2) TryamE
(3) wArEa (4) HTEREHAT
Options :

920906113377. 1
920906113378. 2
920906113379. 3
920906113380. 4

Question Number : 45 Question Id : 92090628689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&f. Ty =qdel 4 fRd @€ el L @ vug gEees ae g7

(1) dmha (2) TrEyEE
(3) A=A (4) HEEAT
Options :

920906113377. 1
920906113378. 2
920906113379. 3
920906113380. 4

Question Number : 46 Question Id : 92090628690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A el 1 7Y & -

(1) Tow= =i foew 20 (2) fame =i favm 214 21

(3) o= g&1 § I3 ¥9=H 2 (4) i Tt e =f® g St St En
Options :

920906113381. 1
920906113382. 2



920906113383. 3
920906113384. 4

Question Number : 46 Question Id : 92090628690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y TEd &1 39 8 -

(1) Too= =i foew =80 (2) T+ favm and =0

(3) Touh gw § #I3 W= & (4) =i Tt Tovm =t g St St Bl
Options :

920906113381. 1
920906113382. 2
920906113383. 3
920906113384. 4

Question Number : 47 Question Id : 92090628691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WA ETh (Eal T & T8 £ 7

(1) <hrarerEt Téd = &= (2) TR ATET T &
(3) T@EER 6T 9§ w5 & (4) TIHETET H &
Options :

920906113385. 1
920906113386. 2
920906113387. 3
920906113388. 4

Question Number : 47 Question Id : 92090628691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT TEG] T & T8 87
(1) hrEier f&d = &= (2) TeRTehl HTIT T &=

(3) T9EEN 6T 9T H & (4) THENT F &



Options :

920906113385. 1
920906113386. 2
920906113387. 3
920906113388. 4

Question Number : 48 Question Id : 92090628692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
M g A o Be fme v § o e E7

() w= (2) Hfere
(3) 3@ (4) Tr=EHl
Options :

920906113389. 1
920906113390. 2
920906113391. 3
920906113392. 4

Question Number : 48 Question Id : 92090628692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
M g A o Be fme v § o e E7

() w= (2) Hfere
(3) = (4) T=EAHI
Options :

920906113389. 1
920906113390. 2
920906113391. 3
920906113392. 4

Question Number : 49 Question Id : 92090628693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tatafiga 9 9 =9 91 U= U9 =9 1976 & 3909 &9 @' T8 A?

(1) wewg (2) T
(3) Y9 (4) =
Options :

920906113393. 1
920906113394. 2
920906113395. 3
920906113396. 4

Question Number : 49 Question Id : 92090628693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tr=fefiga 9 9 =9 a1 u=g Usam =g 1976 & 3avid &9 @ § 8 A7

(1) =g (2) TS
(3) demw (4) gt
Options :

920906113393. 1
920906113394. 2
920906113395. 3
920906113396. 4

Question Number : 50 Question Id : 92090628694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 4 9 HiA-Hi fagme afwar 99y 712 g fafaq 7@ 87
(1) 7% Wfeehier 1 9Ig &, g T8 (Blehie)

(2) 381 Adc, HIHECI (FHH FHiel)

(3) %o @™ & ad o (FEad)

(4) & W FD Faa & (A daE)

Options :

920906113397. 1
920906113398. 2
920906113399. 3



920906113400. 4

Question Number : 50 Question Id : 92090628694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ffefga 4 & SF-di fagme dfwat dgg 72 g fafea 74 87
(1) =% ®fawa =1 i3 2, gm 74 (Hfawm)

(2) 3% HACE, HIHEHIAT (B Hie)
(3) %o W2 ad | (Fad)
(4) & W FD FEal 8 (THEA GgE)

Options :

920906113397. 1
920906113398. 2
920906113399. 3
920906113400. 4

Question Number : 51 Question Id : 92090628695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TEeN Tedl {1 A1esh e JEiid g3 =17

(1) 1927 (2) 1930
(3) 1936 (4) 1940

Options :

920906113401.
920906113402.
920906113403.
920906113404.

EENRVS I \O R

Question Number : 51 Question Id : 92090628695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TEeT fedl {SAl A2 Fa THIT g3 417

(1) 1927 (2) 1930
(3) 1936 (4) 1940
Options :

920906113401. 1
920906113402. 2
920906113403. 3
920906113404. 4

Question Number : 52 Question Id : 92090628696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 foet T v T FRE e 3 PO T BT 27

(1) iR (2) T
(3) gH3m (4) T
Options :

920906113405. 1
920906113406. 2
920906113407. 3
920906113408. 4

Question Number : 52 Question Id : 92090628696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 foet T iR T PR IR 3 For T BaM 27

(1) =l (2) uwi
(3) FHIT (4) fmm=r
Options :

920906113405. 1
920906113406. 2
920906113407. 3
920906113408. 4



Question Number : 53 Question Id : 92090628697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HArRTIET % U sAsaEes B fat 1 F9%e fafeg 9wy s o fHo e

(1) giEHe 1 (2) e garER
(3) IR gEX (4) 9. =iz smi
Options :

920906113409. 1
920906113410. 2
920906113411. 3
920906113412. 4

Question Number : 53 Question Id : 92090628697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ATRIETT & fofu ARaRe f&d i @1 wawe Tafay ardr &1 e feee ey

(1) HitEEe 14 (2) Ters waTeRt
(3) TgER 9E™ (4) 9. =g 7wl
Options :

920906113409. 1
920906113410. 2
920906113411. 3
920906113412. 4

Question Number : 54 Question Id : 92090628698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TSI H 1994 T FEIHG =EaHar T ATEMG GRETe® ®i Tehdl/Famg fFe fod 97

(1) TeTEE™ S (2) HHATEL
(3) W F=TEd (4) 3791 =F
Options :

920906113413. 1
920906113414. 2



920906113415. 3
920906113416. 4

Question Number : 54 Question Id : 92090628698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TEIH ¥ 1994 T wEIE <gahiar W AEHa grEtes $i vehyr/gang fFed formg 47

(1)  TATEEE™ e (2) HHATE
(3) W aaTEd (1) F9IH T
Options :

920906113413. 1
920906113414. 2
920906113415. 3
920906113416. 4

Question Number : 55 Question Id : 92090628699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TERHAET % oiEh & -

() @9y (2) v
(3) wmE (4) =
Options :

920906113417. 1
920906113418. 2
920906113419. 3
920906113420. 4

Question Number : 55 Question Id : 92090628699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

VeI & g & -

(1) z7=g (2) =
(3) wmE (4) <&



Options :

920906113417. 1
920906113418. 2
920906113419. 3
920906113420. 4

Question Number : 56 Question Id : 92090628700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wifth, et i srame fres war €7

(1) HreA-TEm (2) FAEA-THKR

(3) HA-FEEA (4) wHEE-d
Options :

920906113421. 1
920906113422. 2
920906113423.3
920906113424. 4

Question Number : 56 Question Id : 92090628700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ifth, S 3R AH ThEsh TH &7

(1) HrA-T&m (2) =HA=-ThL

(3) FHEA-TEEH (4) H=A-TG
Options :

920906113421. 1
920906113422. 2
920906113423. 3
920906113424. 4

Question Number : 57 Question Id : 92090628701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FTeA-8d & Ha9 T T Taa el gfadn mar wuF Fae 20

(1) TR (2) &7
(3) =mA (4) wezda
Options :

920906113425. 1
920906113426. 2
920906113427.3
920906113428. 4

Question Number : 57 Question Id : 92090628701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HToH-8d & G99 § T AAG 1G] IS 7 HYF FEa 87

(1) T (2) &g
(3) I (4) WZedm
Options :

920906113425. 1
920906113426. 2
920906113427. 3
920906113428. 4

Question Number : 58 Question Id : 92090628702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g T T FYU TecUiE & HH TR T IEE0 B 7

(1) -+ & (2) SESHadT Tam
(3)  sfi (4) ===
Options :

920906113429. 1
920906113430. 2
920906113431. 3
920906113432. 4



Question Number : 58 Question Id : 92090628702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g H W FY T & THH THH T ICEW 87

(1) e @& (2) ST T
(3) by (4) ==
Options :

920906113429. 1
920906113430. 2
920906113431. 3
920906113432. 4

Question Number : 59 Question Id : 92090628703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“mvitg 3gfa, Steafa 3t 9 37 o =1 gufaa =9 & =i 217 78 S fFaw 27

(1) =i g (2) wEEw yER fZed
(3) TmER YA (4) SIGH TEE
Options :

920906113433. 1
920906113434. 2
920906113435. 3
920906113436. 4

Question Number : 59 Question Id : 92090628703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“mvitg Agfa, FFafa 3R B 3 A = gEfaa =9 € Sfaa 217 98 U9 e 27

(1) =i 75 (2) werER yETE fZad
(3) TmER IE (4) I TEIE
Options :

920906113433. 1
920906113434. 2



920906113435. 3
920906113436. 4

Question Number : 60 Question Id : 92090628704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Fitfaea faga’ = vad € -

(1) T (2) &6
(3) & (4) wE
Options :

920906113437. 1
920906113438. 2
920906113439. 3
920906113440. 4

Question Number : 60 Question Id : 92090628704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Ftfaca faga’ =+ yad 8 -

(1) =9 (2) &
(3) &3 (4) ¥z
Options :

920906113437. 1
920906113438. 2
920906113439. 3
920906113440. 4

Question Number : 61 Question Id : 92090628705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
f=ferfiga # wH-a1 Ser-uare & 27
(1) ard-mfa (2) FHiAEEE 39T
(3) Torw =1 A (4) |



Options :

920906113441. 1
920906113442. 2
920906113443. 3
920906113444. 4

Question Number : 61 Question Id : 92090628705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frerferiiga o S99 Hea-v9i= T8 87

() sd-mfy (2) FHAEET 3T
(3) foEe =1 am (4) F=H
Options :

920906113441. 1
920906113442. 2
920906113443. 3
920906113444. 4

Question Number : 62 Question Id : 92090628706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ffafad & & #i °@1 999 75 &7
(1) =gH U =gd & 9t 3 2 (2) U "gH 9gd & IWAN I 2

(3) @gH @ UF 9gd @ I 2l (4) UF 9Ed 8 I 3FE 9GF 8l

Options :

920906113445. 1
920906113446. 2
920906113447. 3
920906113448. 4

Question Number : 62 Question Id : 92090628706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frforfiaa § & #9 @ a9 7Z 27

(1) =gH UF 9gd & I9art 34 &l (2) U =g Fga & 3w I &
(3) =gH 3E UF "gd & I9Art & (4) U= =gd & IWANT 7E "GF 2|

Options :

920906113445. 1
920906113446. 2
920906113447. 3
920906113448. 4

Question Number : 63 Question Id : 92090628707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“wifersgd et % fopae g 87

LH @ (2) =
(3 =W (4) wr=
Options :

920906113449. 1
920906113450. 2
920906113451. 3
920906113452. 4

Question Number : 63 Question Id : 92090628707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“wfassq w1’ F foha 9 &7

(1) @ (2) @
(3 =W (4) w=
Options :

920906113449. 1
920906113450. 2
920906113451. 3
920906113452. 4

Question Number : 64 Question Id : 92090628708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

o8 999 o 9Een Yo W9 BT 8 3R TE1 Wee TR favme =g g 2, 39§ . FaE
AT B ?

(1) cqe9 |9H (2) wgsilfe 994
(3) HHYRZ TaH (4) 3Tt w9 9=
Options :

920906113453. 1
920906113454. 2
920906113455. 3
920906113456. 4

Question Number : 64 Question Id : 92090628708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o8 999 o 9Een Yo W9 BT 8 3R TE1 Wee TR favme =g g 2, 39§ . FaE
AT B ?

(1) cqe9 |9H (2) wgsilfe 994
(3) FHHYTT THH (4) 7=t 99 99
Options :

920906113453. 1
920906113454. 2
920906113455. 3
920906113456. 4

Question Number : 65 Question Id : 92090628709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Teromet 9’ § wShiva “9Rd ® wfasiier |rfecy i sEgashar ey feaw 27

(1) F<go arsE (2) e fag d9Em
(3) TEfEEE o= (4) wErER TH
Options :

920906113457. 1
920906113458. 2



920906113459. 3
920906113460. 4

Question Number : 65 Question Id : 92090628709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Taoer ama’ ° UhiE 9Rd § Wiauie SiEe i 3Eyasdar ey e g7

(1) Fagemt ar=E (2) Tmem fag dEm
(3) Tmfaes ymi (4) WHEEE TH
Options :

920906113457. 1
920906113458. 2
920906113459. 3
920906113460. 4

Question Number : 66 Question Id : 92090628710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hi &1 Y fou U § : uh AU (Assertion A) % w9 § ffid & 91 gU 35k SR
(Reason R) & ¥4 1 :

AMFU (A) . DEERE! ST A FHid = Alcied T H w40 fH )
F (R) DTG il 4 FHid H1 LSO 6531 2

I HYF & AT °, = G 7u fawedi § ¥ g9 39w I 1 994 Hifa ;

(1) (A) 3 (R) aH1 @&l & 31 (R), (A) I &l = 2

(2)  (A) 3 (R) 5Hi = &, A7 (R), (A) 1 Tt =memn 78 2
(3) (A @l 2 ©ifsa (R) wél 48 &

(4)  (A) =&l 78 2 @A (R) 91 2

Options :

920906113461. 1
920906113462. 2
920906113463. 3
920906113464. 4



Question Number : 66 Question Id : 92090628710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= &1 YA fou MU € ¢ U AT (Assertion A) % ®9 H foifigd € a1 gEU 366 HAO
(Reason R) F ¥4 7 :

AHFYA (A) . BEAERG! HIET J FHA = e T H F=A0 HA 2
F (R) : DA Hiadl 4 FHi T A w0 T 2

ITRE HUF % AT °, A9 fou 7o faewedi @ & a9 39w I H 954 Fifau

(1) (A) 3R (R) SHT @&l & 3 (R), (A) =1 @l =ave 8

(2)  (A) 3 (R) SHi &8l &, @ifehd (R), (A) T |ét =amen 78 &
(3) (A wél 8 =i (R) 78l 71 2

(4) (A) =é & & wife (R) w8l 2

Options :

920906113461. 1
920906113462. 2
920906113463. 3
920906113464. 4

Question Number : 67 Question Id : 92090628711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 & FuF fow T E U AT (Assertion A) % ¥4 # foifiga B @ gm 9% wEm
(Reason R) % 9 9 :

AMHYA (A) :  FER & IH FHI F1 Y 8, 98 Higal Wigayd & Yt & A &
forean-=n 21

= (R) : el I Y9 T Hiaarsl § gAY H HET FH A9GE B

I HYF & AT °, = G 7u fawedi § ¥ g9 39w I 1 994 Hifa ;

(1) (A) 3R (R) 3F1 @&l & 3T (R), (A) =i HEl =me &

(2) (A) 3 (R) GF1 w8 €, afFT (R), (A) it ot =amen 78 &
(3) (A) wéi & wifers (R) @€l 781 2

(4) (A) =l 7 2 i (R) Wl 2

Options :

920906113465. 1
920906113466. 2
920906113467. 3
920906113468. 4

Question Number : 67 Question Id : 92090628711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 & FuF fow T E U AT (Assertion A) % ¥4 # foifiga B @ gm 9% wEm
(Reason R) % 9 9 :

AMHYA (A) :  FER & IH FHI F1 Y 8, 98 Higal Wigayd & Yt & A &
forean-=n 21

= (R) : el I Y9 T Hiaarsl § gAY H HET FH A9GE B

I HYF & AT °, = G 7u fawedi § ¥ g9 39w I 1 994 Hifa ;

(1) (A) 3R (R) 3F1 @&l & 3T (R), (A) =i HEl =me &

(2) (A) 3 (R) GF1 w8 €, afFT (R), (A) it ot =amen 78 &
(3) (A) wéi & wifers (R) @€l 781 2

(4) (A) =l 7 2 i (R) Wl 2

Options :

920906113465. 1
920906113466. 2
920906113467. 3
920906113468. 4

Question Number : 68 Question Id : 92090628712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= 2 %A fou M0 E : U AWEEA (Assertion A) % ¥9 | fefigd & 1 g@0 366 FAO
(Reason R) & ¥4 1 :

AfFH (A) :  TEET & WA ¥ AWies-UeHiioes fasaaru fufa w = fEn
ElGI]

=r (R) T=HiTae d61 3T JWiias 9w & I & Uge- § =S ®9 4
weqq TR ST i

I FHY & A °, A= G 70 faehedi § ¥ T84 I9qw 3T 1 994 Hifa ;

(1) (A 3 (R) EH1 @8 € 301 (R), (A) i w1 =amen &

(2 (A) IR (R) SH T &, ST (R), (A) Fi =& == T8 2
(3) (A) wéi 8 wife (R) @l 7 B

(4)  (A) =el 7 8 wifbT (R) Wl 2

Options :

920906113469. 1
920906113470. 2
920906113471. 3
920906113472. 4

Question Number : 68 Question Id : 92090628712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= 2 %A fou M0 E : U AWEEA (Assertion A) % ¥9 | fefigd & 1 g@0 366 FAO
(Reason R) & ¥4 1 :

AfFH (A) :  TEET & WA ¥ AWies-UeHiioes fasaaru fufa w = fEn
ElGI]

=r (R) T=HiTae d61 3T JWiias 9w & I & Uge- § =S ®9 4
weqq TR ST i

I FHY & A °, A= G 70 faehedi § ¥ T84 I9qw 3T 1 994 Hifa ;

(1) (A 3 (R) EH1 @8 € 301 (R), (A) i w1 =amen &

(2 (A) IR (R) SH T &, ST (R), (A) Fi =& == T8 2
(3) (A) wéi 8 wife (R) @l 7 B

(4)  (A) =el 7 8 wifbT (R) Wl 2

Options :

920906113469. 1
920906113470. 2
920906113471. 3
920906113472. 4

Question Number : 69 Question Id : 92090628713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H= 2wy fGu T B U IfUEeE (Assertion A) % 9 ¥ foiflga & 91 gE0 39 FAW
(Reason R) & ¥4 H :

AYHUE (A) ;. WTHT & HifEfde a9 FHHYeis giH] ®91 H Hd1¢ &l 999 T 919 £

FR (R) : HAE 977 & Ta=R] 991 99l & AEH-TEH i 95 2|

ITE FHYT & @ °, = 5w 7u fawedi § % F99 39w I F 997 Fifa

(1) (A) 3 (R) 1 & & 3 (R), (A) i |l s &

(2) (A 3 (R) I 9 &, AfFT (R), (A) i v = 76 2
(3) (A) =l 2 wifes (R) @&t &1 2

(4)  (A) @l 7E 8 i (R) Wl &

Options :

920906113473. 1
920906113474. 2
920906113475. 3
920906113476. 4

Question Number : 69 Question Id : 92090628713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H= 2wy fGu T B U IfUEeE (Assertion A) % 9 ¥ foiflga & 91 gE0 39 FAW
(Reason R) & ¥4 H :

AYHUE (A) ;. WTHT & HifEfde a9 FHHYeis giH] ®91 H Hd1¢ &l 999 T 919 £

FR (R) : HAE 977 & Ta=R] 991 99l & AEH-TEH i 95 2|

ITE FHYT & @ °, = 5w 7u fawedi § % F99 39w I F 997 Fifa

(1) (A) 3 (R) 1 & & 3 (R), (A) i |l s &

(2) (A 3 (R) I 9 &, AfFT (R), (A) i v = 76 2
(3) (A) =l 2 wifes (R) @&t &1 2

(4)  (A) @l 7E 8 i (R) Wl &

Options :

920906113473. 1
920906113474. 2
920906113475. 3
920906113476. 4

Question Number : 70 Question Id : 92090628714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= & ®yF fu 7 7 - ©F AfUEA (Assertion A) % ®9 ¥ fofga & a1 gE0 39k AW
(Reason R)%+ &9 ¥ :

FFYT (A) . TS 39rEl & fow gy faao 6 stavasar Bt 21
=T (R) : UHE= 4 39 IIATEN il AHT-S99 1 39y a7 +ar 2

ITE HYA F AT 4, 9 fov T o 9 ® 56 3 = =599 Sifau

(1)  (A) 3R (R) TFT &3 & 3R (R), (A) i &8 =ared 8

(2)  (A) 3R (R) SHT &cd &, i (R), (A) 1 @l =are 78 2
(3)  (A) & 8 i (R) 3/9cd 8

(4)  (A) w5 2 i (R) &0 2

Options :

920906113477. 1
920906113478. 2
920906113479. 3
920906113480. 4

Question Number : 70 Question Id : 92090628714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= & ®yF fu 7 7 - ©F AfUEA (Assertion A) % ®9 ¥ fofga & a1 gE0 39k AW
(Reason R)%+ &9 ¥ :

FFYT (A) . TS 39rEl & fow gy faao 6 stavasar Bt 21
=T (R) : UHE= 4 39 IIATEN il AHT-S99 1 39y a7 +ar 2

ITE HYA F AT 4, 9 fov T o 9 ® 56 3 = =599 Sifau

(1)  (A) 3R (R) TFT &3 & 3R (R), (A) i &8 =ared 8

(2)  (A) 3R (R) SHT &cd &, i (R), (A) 1 @l =are 78 2
(3)  (A) & 8 i (R) 3/9cd 8

(4)  (A) w5 2 i (R) &0 2

Options :

920906113477. 1
920906113478. 2
920906113479. 3
920906113480. 4

Question Number : 71 Question Id : 92090628715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H g1 %o fou M0 2 : vF AEFEA (Assertion A) % ®9 § feifigd & d1 gHU 366 FR
(Reason R) & ®9 1 :

AYHUA (A) : FTH-o1EF & go1 § FA7qfd 753 2|
FAO(R): WG & ITHN H1eF AW hI Hhedrdd AT 81

IYE HYF & ATrh H, = Gu 7o fashedt § & Te8 39 39 1 994 il ;

(1) (A) 3R (R) THT @& & 3 (R), (A) i &l e 8

(2) (A IR (R) A w4 &, AT (R), (A) Fi 5 =@ 76 2
(3)  (A) @l 2 wifes (R) @l 74 2

(4) (A @&l 78 & w6 (R) Wi 2

Options :

920906113481. 1
920906113482. 2
920906113483. 3
920906113484. 4

Question Number : 71 Question Id : 92090628715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H g1 %o fou M0 2 : vF AEFEA (Assertion A) % ®9 § feifigd & d1 gHU 366 FR
(Reason R) & ®9 1 :

AYHUA (A) : FTH-o1EF & go1 § FA7qfd 753 2|
FAO(R): WG & ITHN H1eF AW hI Hhedrdd AT 81

IYE HYF & ATrh H, = Gu 7o fashedt § & Te8 39 39 1 994 il ;

(1) (A) 3R (R) THT @& & 3 (R), (A) i &l e 8

(2) (A IR (R) A w4 &, AT (R), (A) Fi 5 =@ 76 2
(3)  (A) @l 2 wifes (R) @l 74 2

(4) (A @&l 78 & w6 (R) Wi 2

Options :

920906113481. 1
920906113482. 2
920906113483. 3
920906113484. 4

Question Number : 72 Question Id : 92090628716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 & FuF fou T R U TS (Assertion A) % ¥4 # foifiga B @ g@ 39k wEm
(Reason R) s &9 4 :

AMYHUA (A) : FEIaS FIER-Ta=m & a0, dFHgy AR deie dfed & &
356 &

FAU(R):  TRF (F=A) 96, T IR AG N A@YE, Eoens, gfg w1 dEs ad
ARSI Bl &l

I HYF & AT °, = G 7u fawedi § ¥ ge4 I9g9a IT 61 999 Hifau ;

(1) (A) 3R (R) 5F1 & & 3R (R), (A) i &éi =area1 &

(2)  (A) 3 (R) SHT &cF &, i (R), (A) 1 @l =arean 78 2
(3) (A)&a 2 wifeh (R) 318 8

(4)  (A) 38 & i (R) 97 &

Options :

920906113485. 1
920906113486. 2
920906113487. 3
920906113488. 4

Question Number : 72 Question Id : 92090628716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 & FuF fou T R U TS (Assertion A) % ¥4 # foifiga B @ g@ 39k wEm
(Reason R) s &9 4 :

AMYHUA (A) : FEIaS FIER-Ta=m & a0, dFHgy AR deie dfed & &
356 &

FAU(R):  TRF (F=A) 96, T IR AG N A@YE, Eoens, gfg w1 dEs ad
ARSI Bl &l

I HYF & AT °, = G 7u fawedi § ¥ ge4 I9g9a IT 61 999 Hifau ;

(1) (A) 3R (R) 5F1 & & 3R (R), (A) i &éi =area1 &

(2)  (A) 3 (R) SHT &cF &, i (R), (A) 1 @l =arean 78 2
(3) (A)&a 2 wifeh (R) 318 8

(4)  (A) 38 & i (R) 97 &

Options :

920906113485. 1
920906113486. 2
920906113487. 3
920906113488. 4

Question Number : 73 Question Id : 92090628717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



STty & FER Fefafaa Tehsri S a8 I 8 -
(A) wa™ TEE
(B)  ¥mdg Efwes
(C) e HifereerE

(D) =TT qg
(E) weiArmEe |md Toe

=l feu v foepedi § @ 9 I &1 994 it

1) A), (©), D), (E), (B)
2 (D), (B), (C), (E), (A)
3) @), (D), (), (E), (N)
@) (D), (E), (C), (A), (B)

Options :

920906113489. 1
920906113490. 2
920906113491. 3
920906113492. 4

Question Number : 73 Question Id : 92090628717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



STty & FER Fefafaa Tehsri S a8 I 8 -
(A) wa™ TEE
(B)  ¥mdg Efwes
(C) e HifereerE

(D) =TT qg
(E) weiArmEe |md Toe

=l feu v foepedi § @ 9 I &1 994 it

1) A), (©), D), (E), (B)
2 (D), (B), (C), (E), (A)
3) @), (D), (), (E), (N)
@) (D), (E), (C), (A), (B)

Options :

920906113489. 1
920906113490. 2
920906113491. 3
920906113492. 4

Question Number : 74 Question Id : 92090628718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frefeifiaa ST=aeRl &1 FaiY & AR 981 9 Fam |

(A) GEhHE A
(B) IHE=

(C) w3

(D) 9 JEE
(E) ==

Hie feu v feepedi § & HE I 1 =994 FHifu

(1) (E), (D), B), (C), (A)
(2 (), (©), (D), (B), (E)
(3) (A, (B), (D), (C), (E)
4)  (B), (A), (D), (C), (E)

Options :

920906113493. 1
920906113494. 2
920906113495. 3
920906113496. 4

Question Number : 74 Question Id : 92090628718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frefeifiaa ST=aeRl &1 FaiY & AR 981 9 Fam |

(A) GEhHE A
(B) IHE=

(C) w3

(D) 9 JEE
(E) ==

Hie feu v feepedi § & HE I 1 =994 FHifu

(1) (E), (D), B), (C), (A)
(2 (), (©), (D), (B), (E)
(3) (A, (B), (D), (C), (E)
4)  (B), (A), (D), (C), (E)

Options :

920906113493. 1
920906113494. 2
920906113495. 3
920906113496. 4

Question Number : 75 Question Id : 92090628719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



THITH 99 @i 3fE ¥ fAefafEa st & 98 FA9 § -

(A) wH g H
(B) w4

(C) T wEard

(D) wEmM™E

(E) 19 o=t

+re few v fasreqi § @ w6 I 1 =94 Fifaw -

(1) (B), (C), (E), (A), (D)
(2)  (O), (E), (A), (B), D)
(3)  (©), (A), (E), (B), (D)
4)  (A), (C), (B), (D), (E)

Options :

920906113497. 1
920906113498. 2
920906113499. 3
920906113500. 4

Question Number : 75 Question Id : 92090628719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



THITH 99 @i 3fE ¥ fAefafEa st & 98 FA9 § -

(A) wH g H
(B) w4

(C) T wEard

(D) wEmM™E

(E) 19 o=t

+re few v fasreqi § @ w6 I 1 =94 Fifaw -

(1) (B), (C), (E), (A), (D)
(2)  (O), (E), (A), (B), D)
(3)  (©), (A), (E), (B), (D)
4)  (A), (C), (B), (D), (E)

Options :

920906113497. 1
920906113498. 2
920906113499. 3
920906113500. 4

Question Number : 76 Question Id : 92090628720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



wETedt a1 % fefafaa wed SuE & H9E IHE 8
(A) e

(B) e

(C) wierfia

(D)  rafeman

(E) Hran

H= feu o fawedi @ & w8 I =1 =94 Fifaw

(1) (A), (C), (B), (D), (E)
(2) B, (A), (E), (C), (D)
(3 (B, (E), (A), D), (E)
(4 (A), B), (C), (E), (D)

Options :

920906113501. 1
920906113502. 2
920906113503. 3
920906113504. 4

Question Number : 76 Question Id : 92090628720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



wETedt a1 % fefafaa wed SuE & H9E IHE 8
(A) e

(B) e

(C) wierfia

(D)  rafeman

(E) Hran

H= feu o fawedi @ & w8 I =1 =94 Fifaw

(1) (A), (C), (B), (D), (E)
(2) B, (A), (E), (C), (D)
(3 (B, (E), (A), D), (E)
(4 (A), B), (C), (E), (D)

Options :

920906113501. 1
920906113502. 2
920906113503. 3
920906113504. 4

Question Number : 77 Question Id : 92090628721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



yehTe Y % AR Frafofiaa Aol % ad s § -

(A) T
(B) &1 =™ <=1 gimmy
(C) =&d

(D) WTA-geEm

(E) HEWOT 9d/™
Fi= few o fasredi O @ wE I 1 =94 <ifeu

(1)  (©), (B), (D), (E), (A)
(2)  (C), (B). (A), (E), (D)
3) (@D, @A), (B), (E), (D)
(4)  (C), (D), (E), (B), (A)

Options :

920906113505. 1
920906113506. 2
920906113507. 3
920906113508. 4

Question Number : 77 Question Id : 92090628721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



yehTe Y % AR Frafofiaa Aol % ad s § -

(A) T
(B) &1 =™ <=1 gimmy
(C) =&d

(D) WTA-geEm

(E) HEWOT 9d/™
Fi= few o fasredi O @ wE I 1 =94 <ifeu

(1)  (©), (B), (D), (E), (A)
(2)  (C), (B). (A), (E), (D)
3) (@D, @A), (B), (E), (D)
(4)  (C), (D), (E), (B), (A)

Options :

920906113505. 1
920906113506. 2
920906113507. 3
920906113508. 4

Question Number : 78 Question Id : 92090628722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e ad i gfe & fefefan afecfiem g w1 a8 w5 @ -
@) & mfem @ sfoem

(B) T wfera : sgwa ik faprm

(C) T&& wifem 3R waeT #1 fawm

(D) ooy -ferig

(E) Tedl wifeca =1 g sfagE

Hie feu v fasedi § @ |6 I = =994 Fifau -

(1) (A, B), (D), (C), (E)
2 A, (C), (B), M), (E)
(3) (D), (A), (B), (C), (E)
(4)  (B), (A), (C), (D), (E)

Options :

920906113509. 1
920906113510. 2
920906113511. 3
920906113512. 4

Question Number : 78 Question Id : 92090628722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e ad i gfe & fefefan afecfiem g w1 a8 w5 @ -
@) & mfem @ sfoem

(B) T wfera : sgwa ik faprm

(C) T&& wifem 3R waeT #1 fawm

(D) ooy -ferig

(E) Tedl wifeca =1 g sfagE

Hie feu v fasedi § @ |6 I = =994 Fifau -

(1) (A, B), (D), (C), (E)
2 A, (C), (B), M), (E)
(3) (D), (A), (B), (C), (E)
(4)  (B), (A), (C), (D), (E)

Options :

920906113509. 1
920906113510. 2
920906113511. 3
920906113512. 4

Question Number : 79 Question Id : 92090628723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YL JHIE o H1ed U] & &l ATHH 8 -
(A) A

(B) g
(C) ==
(D) =z
(E) w9ufe=

Fi= few o fasmedi o @ | 39 = =94 Fifsw -

(1) (D), (E), (C). (B), (A)
(2) (), B), D), (C), (1)
(3)  (E), (D). (©), (B), (&)
(4) (B), D), (B), (C), (A)

Options :

920906113513. 1
920906113514. 2
920906113515. 3
920906113516. 4

Question Number : 79 Question Id : 92090628723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YL JHIE o H1ed U] & &l ATHH 8 -
(A) A

(B) g
(C) ==
(D) =z
(E) w9ufe=

Fi= few o fasmedi o @ | 39 = =94 Fifsw -

(1) (D), (E), (C). (B), (A)
(2) (), B), D), (C), (1)
(3)  (E), (D). (©), (B), (&)
(4) (B), D), (B), (C), (A)

Options :

920906113513. 1
920906113514. 2
920906113515. 3
920906113516. 4

Question Number : 80 Question Id : 92090628724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e g1 wem feu o #

w2 (1) :

Fo (1) . 921 & g9 Ieh Hiaar T 35" Fdisl & T H A S S iy

IR Y & AT °, 4 feu mu fawmedi § & Fa9 3w I H 994 FHifAu ;

(1)

Fd 2l

wY7 (1) 3T (ID) S el &
Y (1) 3 (1) g1 Terd 8
FeA (1) Tl 7, e %A (1) 7o 8
w9 (1) T 8, ol Hud (1) w8 2

Options :

920906113517. 1
920906113518. 2
920906113519. 3
920906113520. 4

Question Number : 80 Question Id : 92090628724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

TANETE &1 Wiidare 6 wfafsear ot w81 51 5% 21




e g1 wem feu o #

w2 (1) :

Fo (1) . 921 & g9 Ieh Hiaar T 35" Fdisl & T H A S S iy

IR Y & AT °, 4 feu mu fawmedi § & Fa9 3w I H 994 FHifAu ;

(1)

Fd 2l

wY7 (1) 3T (ID) S el &
Y (1) 3 (1) g1 Terd 8
FeA (1) Tl 7, e %A (1) 7o 8
w9 (1) T 8, ol Hud (1) w8 2

Options :

920906113517. 1
920906113518. 2
920906113519. 3
920906113520. 4

Question Number : 81 Question Id : 92090628725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

TANETE &1 Wiidare 6 wfafsear ot w81 51 5% 21




fra 21 %y feu o £ -

FeH (1) : FEHE e Toer sEEE & 9@ $id 2
A (I1) - Faren & = wfdarg 3 ==t a5 ff faed 8)

I FUF & AT °, H= fou v fawed 9 9 wd I % =994 it

(1) = () 3R (1) 3T 9 &
(2) w9 (1) F (1) F1 A9F &
(3)  FF () 59 8, Al 24 (1) 35 2

(4) g () 359 8, o7 & (1) 99 8

Options :

920906113521. 1
920906113522. 2
920906113523. 3
920906113524. 4

Question Number : 81 Question Id : 92090628725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= &1 %y fog T E

Fu4 (1) : Fhwa B Troer ormEr % ugE G 2

=Y (11) : e 61 == anfaarg 37T 92 Siaa 7 o foerwdi 2

I YA & TR 1, A feu 7o fawedi 4 ¥ w58 33 &1 997 Fifau -

(1) &5 (D) (D) TH 7 &
(2) =y () 3R (1) THAT 3194 2
(3) I () 59 &, e &2 (1) 39 8

(4) &9 (1) 31599 &, oifeh7 & (1) 59 8



Options :

920906113521. 1
920906113522. 2
920906113523. 3
920906113524. 4

Question Number : 82 Question Id : 92090628726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= g1 wua few e #

Fe (1) : SH= FAR & ITIEl & FAE 0 e qitash, s J99 & = W Afas w9y
R Ffedt aHfaewar faedt 21

e (11) : serg 9 FAareyvEE I9AHER 8

IR HYF & AT °, H= G 70 fashedi § ¥ T80 I0qwH 39 1 994 Hifa ;

(1) = (1) 3 (1D 3 &8 &
(2) e (1) 3 (ID) g e &
(3) e (I) ®éi 2, wifehd e (1) TTefd 2
(4) YA (1) TIeTd B, Wl e (1) = 8

Options :

920906113525. 1
920906113526. 2
920906113527. 3
920906113528. 4

Question Number : 82 Question Id : 92090628726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A g F fg Mo E

F24 (1) : S5 FAR 5 I9IE & IE 0 W qmifae, e 798 & w=E w1 AT aud
AR wfeet grfasmar faerd 21

e (1) : 3= 9 AAIEyeauETe] I9aEHE &

ITRF HYA % AT °, 4 fou mu faewedi o & 999 3w I F 994 FHifau

(1) =y (D) 3R (1D I+ 6 &
(2) = (1) 3 (ID) g e &
(3) =uA (I) Wl &, wifeh %o (1I) T 8
(4) e (1) T 2, ST Fe (10) |e 2

Options :

920906113525. 1
920906113526. 2
920906113527. 3
920906113528. 4

Question Number : 83 Question Id : 92090628727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= &1 HYA fe o g

F94 (1) : 3fe qafe = sgw fa=r fF S &0 g 6 9o & Al 8§ 0 miE

A1 8, 35 4ol § UM &1 HgoH &1 580 F2 A &

FU (1) : TG & 121 ] THHAT HHEAAT I A HL 3¢ TGhadlgds F&qd a1 =1

Hehel B

IUH HYF & AT 1, A1 feu v fawmedi § & 5 I = =599 Sifqu -

(1)
(2)
(3)
(4)

A (1) 3 (1) T4 99 &
= () 3 (1) g1 3793 2
A (1) 709 &, wifeh % (1) 3759 2

Y (1) 3718 8, dfehd &y (1) 9 8

Options :

920906113529. 1
920906113530. 2
920906113531. 3
920906113532. 4

Question Number : 83 Question Id : 92090628727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= &1 HYA fe o g

F94 (1) : 3fe qafe = sgw fa=r fF S &0 g 6 9o & Al 8§ 0 miE

A1 8, 35 4ol § UM &1 HgoH &1 580 F2 A &

FU (1) : TG & 121 ] THHAT HHEAAT I A HL 3¢ TGhadlgds F&qd a1 =1

Hehel B

IUH HYF & AT 1, A1 feu v fawmedi § & 5 I = =599 Sifqu -

(1)
(2)
(3)
(4)

A (1) 3 (1) T4 99 &
= () 3 (1) g1 3793 2
A (1) 709 &, wifeh % (1) 3759 2

Y (1) 3718 8, dfehd &y (1) 9 8

Options :

920906113529. 1
920906113530. 2
920906113531. 3
920906113532. 4

Question Number : 84 Question Id : 92090628728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e & o fog e E

FA (1) : Tova =1 9gen &1 @9-31790 T $2 53 FEed 1950 % waia gam o

FA (I1) : 9T =1 98l J9- 3790 g 1984 5 5891ia g37 o1

I FYH & AR 1, 9 feu T fawmed 0 9 w8 I 51 =59 fifau

(1) F& (D) 3 (1) g1 5 &

(2) o (D) 3R (1D T 35T &

(3) =ga (1) 9 8, oift &g (11) 7599 8

(4) =A (1) 35 &, o7 w9 (1) 59 8
Options :

920906113533. 1
920906113534. 2
920906113535. 3
920906113536. 4

Question Number : 84 Question Id : 92090628728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & o fog e E

FA (1) : Tova =1 9gen &1 @9-31790 T $2 53 FEed 1950 % waia gam o

FA (I1) : 9T =1 98l J9- 3790 g 1984 5 5891ia g37 o1

I FYH & AR 1, 9 feu T fawmed 0 9 w8 I 51 =59 fifau

(1)
(2)
(3)
(4)

@A (1) 31T (1) 241 59 &
U (1) 3R (11) ST 318 8
w94 (1) 99 8, ot &g (11) 759 8

=97 (1) 3797 &, o %94 (1) 59 8

Options :
920906113533. 1



920906113534. 2
920906113535. 3
920906113536. 4

Question Number : 85 Question Id : 92090628729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1= 21 %y feu o £

9 (I) : FA-TAH § Hag IRF Feba I § ITee &l &l

w97 (1) : ®g2 4 A7 & I99H 3R foufs & fano =1 ¥ s=-13ee 96 2
IVRE FYT & ATEE 1, A= fou 7o Fwedt 5§ 98 I 1 =999 it

(1) =%= (D) 3T (1) g1 59 &

(2)  =yA (1) 3 (1) 4 7599 2

(3) w4 (1) ¥ 8, wfed o (1) 3793 8

(4) = (1) 3159 &, A w2 (1) 59 &

Options :

920906113537. 1
920906113538. 2
920906113539. 3
920906113540. 4

Question Number : 85 Question Id : 92090628729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e & o fog e E

FU (1) : FA-TAGA H Gag ARHS Hobd AINE H Iueied gl 2|
=97 (1) : F52 5 398 &% IM 3R foulw & Fam =1 Fff se-v=@e=e 9m 2)

IR FHYF & IR 5, = fou 7o e 3 7 w6t I o 939 i

(1) =g= (D) 30 (1) 241 59 &

(2)  =ya (D) 3 (1) 54 799 2

(3) =9 (1) §9 8, oifs 2 (11) 35949 8

(4) =A (1) 35 &, o7 w9 (1) 59 8

Options :

920906113537. 1
920906113538. 2
920906113539. 3
920906113540. 4

Question Number : 86 Question Id : 92090628730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e &1 FyE for o E

FeH (1) : Tom forn & & &t g =1 =919 21, 39 Yaere 6 R #ad 21
FuA (11) : Tornatt & =R 61 o & afasrgee w&d 21

ITE FYA & AS 4, 4= Gu 7 fawedi ¥ wE I &1 =95 Fifan
(1) =y (D) 3R (D) THi & &

(2) =¥ (1) IR (1) EF1 35A 2

(3)  F9F (1) 59 &, ol F24 (1) 35 8

(4) g () 359 8, o7 & (1) 99 8



Options :

920906113541. 1
920906113542. 2
920906113543. 3
920906113544. 4

Question Number : 86 Question Id : 92090628730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= g1 e few w2

FuA (1) : T forn & & 61 5wt 1 |9 21, 39 aeera i feran #ad 2
FuA (11) : Tornati % = 61 e &1 afasrqee wad 21

I FYT *F AAF 4, 7= fov v e § 9 98 33 %1 =999 fifau -

(1) g (1) A (1) =H1 59 &

(2) w9 (D) F (1) 24 759 &

(3)  F9 () 79 &, Al w29 (1) 359 8

(4)  FYA (1) 357 &, oifeh7 Fe (1) 59 8

Options :

920906113541. 1
920906113542. 2
920906113543. 3
920906113544. 4

Question Number : 87 Question Id : 92090628731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fferiigd # @ = w=y wus Hi favfeal 27

(A)
(B)

e
E2
(C) #
D) =
=hi

(E)

F= feu o fawedi @ & @€ I =1 =94 $ifaw

(1) = (A), (D), (B)
(2) e (A), (B), (B)
(3) e (A), (C), (B)
(4) = (A), (B), ()

Options :

920906113545. 1
920906113546. 2
920906113547. 3
920906113548. 4

Question Number : 87 Question Id : 92090628731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fferiigd # @ = w=y wus Hi favfeal 27

(A)
(B)

e
E2
(C) #
D) =
=hi

(E)

F= feu o fawedi @ & @€ I =1 =94 $ifaw

(1) = (A), (D), (B)
(2) e (A), (B), (B)
(3) e (A), (C), (B)
(4) = (A), (B), ()

Options :

920906113545. 1
920906113546. 2
920906113547. 3
920906113548. 4

Question Number : 88 Question Id : 92090628732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frferfaa @ @ =1 ffowea & % 87

(A) wam =R
(B) HeHTR
(C) HawE
(D) =t v
() =g

Fi= feu 7o famedi @ & T8 I %1 =5 Hifaw

() %= (A), (B), (D)
(2) === (C), (B), (A)
(3) wad (B), (), (E)
(4) == (0), (D), (E)

Options :

920906113549. 1
920906113550. 2
920906113551. 3
920906113552. 4

Question Number : 88 Question Id : 92090628732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frferfaa @ @ =1 ffowea & % 87

(A) wam =R
(B) HeHTR
(C) HawE
(D) =t v
() =g

Fi= feu 7o famedi @ & T8 I %1 =5 Hifaw

() %= (A), (B), (D)
(2) === (C), (B), (A)
(3) wad (B), (), (E)
(4) == (0), (D), (E)

Options :

920906113549. 1
920906113550. 2
920906113551. 3
920906113552. 4

Question Number : 89 Question Id : 92090628733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frefeifiad # 8 M 4 ia wiiqa) Heaaw & H=ia A4 87

(A) EfEs T a=

(B) e smEE

(C) T Bt

(D) T

(E) o fe g

A= fu 7 ferbedi # & WEl I 1 =9 T

() == (A), (B), (O)
(2) =9 (B), (D), (E)
(3 == (C), (D), (E)
(4) = (A), (O), (B)

Options :

920906113553. 1
920906113554. 2
920906113555. 3
920906113556. 4

Question Number : 89 Question Id : 92090628733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frefeifiad # 8 M 4 ia wiiqa) Heaaw & H=ia A4 87

(A) EfEs T a=

(B) e smEE

(C) T Bt

(D) T

(E) o fe g

A= fu 7 ferbedi # & WEl I 1 =9 T

() == (A), (B), (O)
(2) =9 (B), (D), (E)
(3 == (C), (D), (E)
(4) = (A), (O), (B)

Options :

920906113553. 1
920906113554. 2
920906113555. 3
920906113556. 4

Question Number : 90 Question Id : 92090628734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T THTE & AIeH & Fayg ¥ efeiga 927 e g -

(A) 9HRE % el # A sEfey g e 2

(B) THIE A 310 AEHT o oI WNAT Sfaw & T 3 GHEHTd % HUHH Bl AT
(C) =afhes fomior 3 o 1 2 & gt e g™ 2

(D) ‘gEFEEIEET Ae® W TEHd & GEl FHe A1eE S I9E 2

(E) =W 91e% # ooi-U AR FERia-T 1 e fHea 2|

e fou e faspedt # @ @@l I H1 =EA Hifaw

(1) = (B), (C). (B)
(2) e (A), (D), (B)
(3) A« (B), (D), (E)
(4 == (B), (C), (D)

Options :

920906113557. 1
920906113558. 2
920906113559. 3
920906113560. 4

Question Number : 90 Question Id : 92090628734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T THTE & AIeH & Fayg ¥ efeiga 927 e g -

(A) 9HRE % el # A sEfey g e 2

(B) THIE A 310 AEHT o oI WNAT Sfaw & T 3 GHEHTd % HUHH Bl AT
(C) =afhes fomior 3 o 1 2 & gt e g™ 2

(D) ‘gEFEEIEET Ae® W TEHd & GEl FHe A1eE S I9E 2

(E) =W 91e% # ooi-U AR FERia-T 1 e fHea 2|

e fou e faspedt # @ @@l I H1 =EA Hifaw

(1) = (B), (C). (B)
(2) e (A), (D), (B)
(3) A« (B), (D), (E)
(4 == (B), (C), (D)

Options :

920906113557. 1
920906113558. 2
920906113559. 3
920906113560. 4

Question Number : 91 Question Id : 92090628735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TTIE % IUAE H Hatud 98 9% & -

(A) e H TeREHI =1 0T i THEN FHI 0 3 &

(B) =g F I § A a9 #1 fEw fiear 2

(C)  “Fder 39=m § 30 faame 3 sg9-awe & w21
(D) “HaEed 39 ° 99 3 faae & gusn = e B
(E) Tt sv=mm fawun § Uve=g S99 99 9 91 £

e feu o fasedi # | Ha® I9YE IO B T hITAT

() =ad (A), (B), (B)
(2) e (A), (D), (E)
(3) <=4 (A), (B), (C)
(4) == (A), (0), (B)

Options :

920906113561. 1
920906113562. 2
920906113563. 3
920906113564. 4

Question Number : 91 Question Id : 92090628735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TTIE % IUAE H Hatud 98 9% & -

(A) e H TeREHI =1 0T i THEN FHI 0 3 &

(B) =g F I § A a9 #1 fEw fiear 2

(C)  “Fder 39=m § 30 faame 3 sg9-awe & w21
(D) “HaEed 39 ° 99 3 faae & gusn = e B
(E) Tt sv=mm fawun § Uve=g S99 99 9 91 £

e feu o fasedi # | Ha® I9YE IO B T hITAT

() =ad (A), (B), (B)
(2) e (A), (D), (E)
(3) <=4 (A), (B), (C)
(4) == (A), (0), (B)

Options :

920906113561. 1
920906113562. 2
920906113563. 3
920906113564. 4

Question Number : 92 Question Id : 92090628736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HIF-Y4I9 H Hag T8 a9 & -

(A) HAEEE 39T

(B) =g
(C) =74 <t wifm
(D) T
(E) oA

Hie few v faseqi 4 ¥ | I & =94 Fifaw

(1) =t (A), (C), (D)
(2) = (A), (O), (B)
(3) &= (A), (B), (O)
(4) == (A), (D), (B)

Options :

920906113565. 1
920906113566. 2
920906113567. 3
920906113568. 4

Question Number : 92 Question Id : 92090628736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HIF-Y4I9 H Hag T8 a9 & -

(A) HAEEE 39T

(B) =g
(C) =74 <t wifm
(D) T
(E) oA

Hie few v faseqi 4 ¥ | I & =94 Fifaw

(1) =t (A), (C), (D)
(2) = (A), (O), (B)
(3) &= (A), (B), (O)
(4) == (A), (D), (B)

Options :

920906113565. 1
920906113566. 2
920906113567. 3
920906113568. 4

Question Number : 93 Question Id : 92090628737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I g4t 72 W e Sit -

(A) & T 9 gE H 'Y W R F, 98 HhaarEs 91 FE 2

(B) Tamw fodi 9@ & &9 &1 =19 &1, 98 fafbaras 9 S 21

(C) Tauw Tt @@ & 9 84 =1 919 71, 98 Fuyar=as 999 Faa 21

(D) Taud fodl yR % 3(9=E T §:@-H@ *1 914 81, 98 fawmadras 9 FEa &l
(E) fToo@ fdt g=m it 3=01 =1 919 71, 98 a9 Heen 2|

=l feu mu fasedi § ¥ FeH I9g I B FFH ST

() =9 (A). (B), (O)
2 a4 (B). (O). (B)
(3) %A (A), (B). (E)
(4) %= (B), (O), (D)

Options :

920906113569. 1
920906113570. 2
920906113571. 3
920906113572. 4

Question Number : 93 Question Id : 92090628737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I g4t 72 W e Sit -

(A) & T 9 gE H 'Y W R F, 98 HhaarEs 91 FE 2

(B) Tamw fodi 9@ & &9 &1 =19 &1, 98 fafbaras 9 S 21

(C) Tauw Tt @@ & 9 84 =1 919 71, 98 Fuyar=as 999 Faa 21

(D) Taud fodl yR % 3(9=E T §:@-H@ *1 914 81, 98 fawmadras 9 FEa &l
(E) fToo@ fdt g=m it 3=01 =1 919 71, 98 a9 Heen 2|

=l feu mu fasedi § ¥ FeH I9g I B FFH ST

() =9 (A). (B), (O)
2 a4 (B). (O). (B)
(3) %A (A), (B). (E)
(4) %= (B), (O), (D)

Options :

920906113569. 1
920906113570. 2
920906113571. 3
920906113572. 4

Question Number : 94 Question Id : 92090628738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 % w19 g-11 %1 faem Hifa

-1 (afr) TE-11 (H9TeH)
(A) &< 78 (0 waERE
(B) wfa a== g (IT) el SR =g THas
(C) =& (I1I) =TeTehem Hee
(D) T g (IV) Wmd &=

= feu 7o fawewi 8 & @ 39 =1 994 Hifaw .

(1) (A1), (B)-(IV), (C)-(1), (D)-(I)
2)  (A)-D), (B)-(II), (C)-(11D), (D)-(IV)
(3)  (Q)-D, (B)-(D), (C)-(AV), (D)-(I1I)
4)  (A)-0V), (B)-(ID), (C)-(1), (D)-(D)

Options :

920906113573. 1
920906113574. 2
920906113575. 3
920906113576. 4

Question Number : 94 Question Id : 92090628738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 % w19 g-11 %1 faem Hifa

-1 (afr) TE-11 (H9TeH)
(A) &< 78 (0 waERE
(B) wfa a== g (IT) el SR =g THas
(C) =& (I1I) =TeTehem Hee
(D) T g (IV) Wmd &=

= feu 7o fawewi 8 & @ 39 =1 994 Hifaw .

(1) (A1), (B)-(IV), (C)-(1), (D)-(I)
2)  (A)-D), (B)-(II), (C)-(11D), (D)-(IV)
(3)  (Q)-D, (B)-(D), (C)-(AV), (D)-(I1I)
4)  (A)-0V), (B)-(ID), (C)-(1), (D)-(D)

Options :

920906113573. 1
920906113574. 2
920906113575. 3
920906113576. 4

Question Number : 95 Question Id : 92090628739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H-1 % @ g1 11 @1 faem it

gHt-1 gqHi-11
&l &SR
(A) TH-Fgfa (1) sfiem 9es
(B) =& (1D Tw B
(C) - (111 forem
D) == (IV) ==t TH1g

= feu 7o fawewi 8 & @ 39 =1 994 Hifaw .

(1) (A)-a), (B)-(D, (C)-(I1D), (D)-(IV)
(2) (Q)-dID, (B)-AV), (C)-1), (D)-(1L)
3 Q)-AV), B)-D), (C)-1I), (D)-(IIT)
(4)  (W)-ID), (B)-(IID), (C)-(IV), (D)-(I)

Options :

920906113577. 1
920906113578. 2
920906113579. 3
920906113580. 4

Question Number : 95 Question Id : 92090628739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H-1 % @ g1 11 @1 faem it

gHt-1 gqHi-11
&l &SR
(A) TH-Fgfa (1) sfiem 9es
(B) =& (1D Tw B
(C) - (111 forem
D) == (IV) ==t TH1g

= feu 7o fawewi 8 & @ 39 =1 994 Hifaw .

(1) (A)-a), (B)-(D, (C)-(I1D), (D)-(IV)
(2) (Q)-dID, (B)-AV), (C)-1), (D)-(1L)
3 Q)-AV), B)-D), (C)-1I), (D)-(IIT)
(4)  (W)-ID), (B)-(IID), (C)-(IV), (D)-(I)

Options :

920906113577. 1
920906113578. 2
920906113579. 3
920906113580. 4

Question Number : 96 Question Id : 92090628740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TA1-1 % |15 g=Hh-11 1 faem shifa

g1 gHt-11

I WA a9
(A) HrETHed (I) 1924
(B) =HgMH (II) 1931
(C) Ty (IIT) 1932
D) T (IV) 1926

fr few mu faseai d @ @t 39 w1 999 $ifsu .

(1)  (A)-(1D), (B)-(II), (C)-(IV), (D)-(@)
(2)  A)-AV), (B)-d), (C)-1D), (D)-(11I)
(3)  (A)-AV), (B)-(D), (C)-(I1I), (D)-(1II)
(4)  (A)-(IV), (B)-(1D), (C)-(I), (D)-(1I)

Options :

920906113581. 1
920906113582. 2
920906113583. 3
920906113584. 4

Question Number : 96 Question Id : 92090628740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TA1-1 % |15 g=Hh-11 1 faem shifa

g1 gHt-11

I WA a9
(A) HrETHed (I) 1924
(B) =HgMH (II) 1931
(C) Ty (IIT) 1932
D) T (IV) 1926

fr few mu faseai d @ @t 39 w1 999 $ifsu .

(1)  (A)-(1D), (B)-(II), (C)-(IV), (D)-(@)
(2)  A)-AV), (B)-d), (C)-1D), (D)-(11I)
(3)  (A)-AV), (B)-(D), (C)-(I1I), (D)-(1II)
(4)  (A)-(IV), (B)-(1D), (C)-(I), (D)-(1I)

Options :

920906113581. 1
920906113582. 2
920906113583. 3
920906113584. 4

Question Number : 97 Question Id : 92090628741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1% =19 g-11 %1 faers Hif

gft-1 get-11
T ufte I
(A) 3T § @1 7% O TP
(B) wfui i g feefad (1) e
(C) =E & Tse =ia| A (I11) 7& s
(D) 2= 8, WHU B (IV) Siftdra firsem

= feu 7o faeui § § Ol 3 &1 934 Hifau .

(1) (A)-d), (B)-(IV), (C)-(11I), (D)-(II)
(2)  (A)-ID), (B)-IV), (C)-(), (D)-(1I)
(3) (W), (B)-(IV), (C)-I), (D)-(I)
(4)  (AW)-(IV), (B)-(1D), (C)-II), (D)-(I)

Options :

920906113585. 1
920906113586. 2
920906113587. 3
920906113588. 4

Question Number : 97 Question Id : 92090628741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1% =19 g-11 %1 faers Hif

gft-1 get-11
T ufte I
(A) 3T § @1 7% O TP
(B) wfui i g feefad (1) e
(C) =E & Tse =ia| A (I11) 7& s
(D) 2= 8, WHU B (IV) Siftdra firsem

= feu 7o faeui § § Ol 3 &1 934 Hifau .

(1) (A)-d), (B)-(IV), (C)-(11I), (D)-(II)
(2)  (A)-ID), (B)-IV), (C)-(), (D)-(1I)
(3) (W), (B)-(IV), (C)-I), (D)-(I)
(4)  (AW)-(IV), (B)-(1D), (C)-II), (D)-(I)

Options :

920906113585. 1
920906113586. 2
920906113587. 3
920906113588. 4

Question Number : 98 Question Id : 92090628742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gi-1 % @1 gei-11 1 faem Hif

gHt-1 -1

uYq UGHR
(A) FHTATABIEA (I) T=e
(B) = (IT) #iufa
(C) sl (IIT) ===
(D) =y (IV) gt

I fev v faweqi § @ w1 39 =1 994 Sifew

(1) (A)-aD, (B)-(I), (C)-(I), (D)-(AV)
(2)  (A)-AV), (B)-(0), (C)-(I1I), (D)~(1I)
(3)  (A)-IID), (B)-AV), (C)-11), (D)-(T)
4)  A-D, B)-1D), (C)-AV), (D)-11D)

Options :

920906113589. 1
920906113590. 2
920906113591. 3
920906113592. 4

Question Number : 98 Question Id : 92090628742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gi-1 % @1 gei-11 1 faem Hif

gHt-1 -1

uYq UGHR
(A) FHTATABIEA (I) T=e
(B) = (IT) #iufa
(C) sl (IIT) ===
(D) =y (IV) gt

I fev v faweqi § @ w1 39 =1 994 Sifew

(1) (A)-aD, (B)-(I), (C)-(I), (D)-(AV)
(2)  (A)-AV), (B)-(0), (C)-(I1I), (D)~(1I)
(3)  (A)-IID), (B)-AV), (C)-11), (D)-(T)
4)  A-D, B)-1D), (C)-AV), (D)-11D)

Options :

920906113589. 1
920906113590. 2
920906113591. 3
920906113592. 4

Question Number : 99 Question Id : 92090628743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H=-1% |19 gei-11 &1 e Hifaw

gt 11

wE FETET
(A) T OB IGIEL
(B) weges (ID) cmge
(C) &% (111) ST
(D) =itz (IV) Tt

= feu mu faseai 9 & @ 3¢ w1 934 S

(1)  (A)-(IV), (B)-(ILD), (C)-(1I), (D)-(T)
2)  (A)-IID, (B)-(IV), (O)-(1D), (D)-(T)
(3)  (A)-IV). (B)-(ID), (C)-(D), (D)-(1T)
(4)  (A)-(ID), (B)-(IV), (C)-(1), (D)~(IIT)

Options :

920906113593. 1
920906113594. 2
920906113595. 3
920906113596. 4

Question Number : 99 Question Id : 92090628743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F-1 % @ G115 e iR -
get-1 ge-11
LI TR
(A) r=EE @ fareR
(B) weges (ID) cmge
(C) &% (111) W
(D) =itz (IV) Tt

= feu mu faseai 9 & @ 3¢ w1 934 S

(1) (A)-AV), (B)-(1I), (C)-(ID), (D)-(T)
(2)  (AQ)-I), (B)-(IV), (C)-1I), (D)-(T)
3 (A)-AV), (B)-(1I), (C)-(I), (D)-T)
(4)  (A)-AD, (B)-(IV), (C)-(I), (D)-(IIT)

Options :



920906113593. 1
920906113594. 2
920906113595. 3
920906113596. 4

Question Number : 100 Question Id : 92090628744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T=1-1 % =y g=h-11 1 faem i
geft-1 et-I1
= &R
(A) warE $i g O @& e e
(B) @18 99 : U @A (1) THER 98
(C) fegh #u weew (I1T) EfEorr a=
(D) U wg HEHl el (IV) giEre 94

e few v faweqi § @ @l 3T =1 994 Hifsw -

(1) A, B)-(1I), (C)-AV), (D)-(1I)
(2)  (A)-D, B)-V), (C)-(1D), D)-(1)
(3 @W)-dD), (B)-(D, (C)-AID), (D)-(IV)
(4)  (A)-(ID), (B)-D, (C)-(IV), (D)-(I)

Options :

920906113597. 1
920906113598. 2
920906113599. 3
920906113600. 4

Question Number : 100 Question Id : 92090628744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g1 % |1y gei-11 &1 foers i :

get-I get-11
Al TEAHR
(A) wam| Fir = @ =8, e 39
(B) =12 94 : U @A (I1) TR w8
(C) Tegi 70 wew (I11) B s
(D) U Wg FEH IDeAt (IV) "gftEred 94

= feu mu faweai 9 © 98 3 =1 994 Fifsw -

(1) A)-D), B)-(ID, (C)-IV), (D)-(1D)
(2) (W), (B)-(IV), (C)-(II), (D)-(T)
(3)  (A)-dD), (B)-(D), (C)-(ID), (D)-(IV)
(4)  (A)-(IID), (B)-(IT), (C)-(IV), (D)-(I)

Options :

920906113597. 1
920906113598. 2
920906113599. 3
920906113600. 4



